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H8S,H8/300

H8S,H8/300 C/C++
1)
cpuexpand

[]

unsigned int a;
unsigned long b;
void sub(void)
{

a=b/204s;
}

< >

_sub:
MOV.W  @_b+2:32,R0
SHLR.W #11:5,RO
MOV.W RO,@_a:32
RTS

[ 1
a),b)

i. CPU

ii. cpuexpand
iii. (unsigned char)( /
iv. unsigned int

i. CPU

ii. cpuexpand
iii. (unsigned int)( /
iv. unsigned long

[ ]

unsigned int a;
unsigned long b;
void sub(void)

{

unsigned long c;

c=b/204s;
a=c;

b) volatile

C/C++

Ver.6.0.00

unsigned int(unsigned short)

/* 2byte
< >
_sub:
MOV.L
SHLR.L
MOV.W
RTS

H8SXN, H8SXM, H8SXA, H8SXX

)

unsigned short

H8SXN, H8SXM, H8SXA, H8SXX

) (unsigned short)(
0-65535

19

PSO0O8CAS6-040217)

Ver.6.0.00

unsigned long

@_b:32,ERO
#11:5,ERO
RO,@_a:32

0-255 2 n

*/



2)

[ ]

unsigned char data[2] = { 0x00, Ox11 };

const struct st_sample {
void *di1;
unsigned long d3;
}stl = { (void *)(data+1),
0x22222222
h

f) const

[ Io)
[ ]

unsigned char data[2] = { 0x00, Ox11 };

const struct st_sample {
void *d1;

unsigned int u;
unsigned long d3;

}stl = { (void *)(data+1),
Oxff,
0x22222222

I8
3)

[1]
struct ST{

signed long offset:3;
signed long data:20;
Ist;

void func(void)

{

st.data = 0x000000ff;

}

< >

_func:
MOV.L @ _st:32,ERO
AND.L  #h'dfffo3df:32,ERO
OR.L #h'0001fe00:32,ERO
MOV.L  ERO,@_st:32
RTS

/*

H8SXN, H8SXM, H8SXA, H8SXX

/*

_func:

MOV.L
AND.L
OR.L
MOV.L
RTS

2/9

*/

*/

@_st:32,ERO
#h'e00001ff:32,ERO
#h'0001fe00:32,ERO
ERO,@_st:32



a) CPU H8SXN,H8SXM,H8SXA,H8SXX
b)
c)
:long :20
:long 115
:long
:long
:long
int/short

N O

[ Io)

[ 1]

struct ST{
signed long offset:3;
signed long dummy:1; /* dummy
signed long data:20;

Ist;

4) 3byte
structreg 3byte 3byte

[1]
#pragma pack 1
typedef struct {
char a;
int b;
}ST;
#pragma unpack

ST st2[3];
ST sub();

void main(void){
st2[1] = sub(); /* (st2[2].a)

a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) structreg
c) 3byte 3byte

[ ]

a) structreg
b) 3byte 1lbyte 4byte
c) volatile

3/9



5)

[

]

extern unsigned char a,b,arrayl[],array2[];
void func01();
void func02();
void sub(void)

{

}

if(a==1) {
if(array2[1]==0x01) {
func02(); /* func02
/*
}else {
funcO01();
}
} else if(a==2) {
if(b&0x01) {
func02();
}else {
funcO1();
}
}else {
if(b&0x01) {
array1[1]=0x08;
}else {
funcO01();
}
}

void funcO1(){}
void func02(){}

[

a)
b)
<)
d)
e)

9)

b)

1
CPU 300, 300HN, 300HA, 2000N, 2000A, 2600N, 2600A
goptimize
/ /
c) then
d)

4 (cpu=300 2 )

goptimize

4/9

func02

*/
*/



6) 2
2 2
[ ]
char *p,array[12][12];
unsigned long x1,x2,x3;
void sub()

{
p = (&array[x1][0] + x2 + x3);

a) CPU
b) (optimize=0)
c) 2 2
d) 2 & [ 19
[ ]
a) 2 [
[ 1]
p = (array[x1] + x2 + x3);
b) 1
[ 1]
p = (&array[x1][0] + x2);
p = (p + x3);
) (optimize=1:
7)
BFST/BFLD
[]
MOV.L #(_p+4),ER1
BFLD #7,@ER1,ROL
CMP.B #4:8,ROL
BHI L29:8
MOV.B #2:8,ROL
BRA L38:8
L31:
L35:
BFLD #15,@ER3,ROL
ADD.B #2:8,ROL
MOV.L #(_p+2),ER3
MOV.L ER3,ER2
MOV.B ROL,R1L
BFST R1L,#240,@ER2
MOV.L ER3,ER1
BFLD #240,@ER1,R2L
MOV.B R2L,ROH
BFST ROH,#15,@(_p+3):32
L29:
MOV.B #6:8,ROL
L38:
BFST ROL,#7,@ER1 ; ER1
SUB.B ROL,ROL
SUB.B ROL,ROL

/*

ER1

ER3

ER1

5/9

300, 300HN, 300HA, 2000N, 2000A, 2600N, 2600A

(Lp+4)

(p+2)

ER3

*/

(p+2)

BFST ROL,#7,@(_p+4)



a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) (optimize=1.: )
C) 7bit + 1byte
d)
e) BFST/BFLD
f)
[ 1]
BFST ROL,#7,@ER1
BFST ROL,#7,@L3+3
[ 1
(optimize=0)
8)
2byte 1byte
[]
int a[100],b[100];
inti;
unsigned char x;
void f(void){
X =3;
i=0;
while (i <= 32760) { /*x
a[x] = b[x];
X++;
i+=4;
}
}
[ ]
a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) (optimize=1: )
c) Z2byte i)
d) char unsigned char ( X)
e)
f) d
[ 1
a) 1
b) [ Id)
c) [ 1d)

6/9

*/



9)

( volatile)
[ 1]
int x;
int sub(){
if (x>=9999)
x=1050;
}
X=X; /*
X++; /* 1050
return (x);
}
[ 1
a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) (optimize=1.: )
c) ( volatile)
d) ¢ if then else
[ 1
opt_range=noblock
10)
[ ]
/* "Hello” 12byte */
const char a[2][6] = {"Hello",
{1,2,3,4,5,6} };
const char b[2][6] = {"Hello",
{6,5,4,3,2,1} };
. SECTI ON C, DATA, ALl G\=2
_a: ; static: a
_b: ; static: b
. SDATAZ "Hel | o"
. DATA. B H 01, H 02, H 03, H 04, H 05, H 06
/* "Hello” 10byte */
typedef struct {
char a[6];
long |;
} stl;
typedef struct {
char a[6];
char b[4];
} st2;

const stl s1[] = {"Hello",1};
const st2 s2[] = {"Hello", {0,1,2,3}};

. SECTI ON C, DATA, ALI G\=2
719

if then

x=1051

else

*/
*/



_SS: ; static: ss

_tt: ; static: tt ss
. SDATAZ "Hel | o"
.DATA. L H 00000001

a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) const

const

11) cpuexpand
cpuexpand

[ ]-cpu=2600a -cpuexpand
unsigned long ull,;
unsigned int  uil;

void sub()
{
ull =uil *-1;
}
< > < >
_func: _func:
MOV.W @ui1: 32, RO MOV. W
NEG W RO ; 2byte* 2byte(-1) - 2byte MOV. W
EXTU.L ERO ; dbyte MULXU. W
MOV. L ERO, @ul 1: 32 MOV. L
[ ]
a) CPU 300, 300HN, 300HA, 2000N, 2000A, 2600N, 2600A
b) CPUEXPAND
c)
long = int(short) * (-1)
unsigned long = unsigned int(unsigned short) * (-1)
[ ]
a) unsigned
[ 1]
long I1;
short s1;

unsigned long ull;
unsigned short usl;
void sub(void){

11 = (long)sl * (-1); // signed -1
ull = (unsigned long)usl * OxFFFF; // unsigned OXFFFF
}
b) -1 volatile
[ ]
long I1;
short s1;

unsigned long ull;
8/9

@ui 1: 32, RO
#-1, EO

EO, ERO

ERO, @ ul 1: 32

; 2byte  2byte-, 4byte



unsigned short usl;
void sub(void){
volatile short x = (-1);

11 =s1*x;
ull = usl * x;
}
c) cpuexpand
12) 4byte
4byte
3byte
[ ]
typedef struct {
char c1;
char di;
1ST1,;

typedef struct {

char di;
ST1 sx[1];
1ST3;
ST1G_S;
ST3 sub()
{
ST3 st3;
st3.sx[0] = G_S;
return st3;
}
< >
_sub:
subs #4, sp
nmov. | @8:2,sp),er0
mv.w @p, @r0
mv.b @2:2,sp), @2:2,er0)
adds #4, sp
rts
[ ]
a) CPU H8SXN, H8SXM, H8SXA, H8SXX
b) (optimize=1:
c) A4byte
d) ¢
e) d)
[ 1
a) (optimize=0)

volatile

_sub:

er6

@G S:32,r0
@8:16,sp),erl
ro, @rl

réh, @2: 16, er1)
er6



